REDOERRES)ZVIHE—EXR

sY=yy LEHE 25+ 25+VIO 2 5+E+VIO EOH VIOD
MEERI)=vY 6[=]:77,400M — — 6[=]:155,700M 6/=1:40,800M 6[=]:54,000M
Lo—+9)=vy 215,250M 309,230M 294,260M 378,000M 110,250 94,500M
TCBRRARERIH 198,000H 298,000M 298,000 389,000M 102,000M 48,000H
P U= - - 75,900 218,900H - —
ISFINIV=vD 68,200M 129,800H 68,200H 129,800H - -
WARY)=vY 189,050H — — — 47,025H 47,025H
mllIAX20) =9y — — — — 1[5]: 14,990 1[=]: 19,000
FRREPRI)ZYY 425,000H 467,500H 466,650M 535,500M 89,100 99,000H
FREERNEMEARI =Y 161,700~ 236,500 249,700+ 298,100+ 99,000 118,800
F-9U=h L XFH — — — 8[=]:680,000M 8[=]:104,000M 8[=]: 136,000
DIBARBHRSE-ALOSY=9Y — — - . - 1:29,700/2
HIT D)=y - - - — 176,000H —
FLERTEIV=YD - - - — 88,000HM 132,000H
XBEAM B HDE

XEEHDLLHD(EEET—R

1 BETIY
2 FHOHE




